
Name: _________________    Mental Arithmetic: 20 mins  (Time taken: ______)    Score: __ out of 15	

	
	
15	÷	3	=	________	
	

	
	
82	=	____	+	2	
	

	
80p	+	20p	=	_____	
	
8p	+	2p	=	_____	
	
(1 mark = all correct)	

	
	
62																								28	
	
Which	symbol?	<	>	=	
	
	

	
	
26	–	____	=	10	
	

	
	
92	=	90	+	____	
	

	
Half	20	=	
	

	

	
	
6	÷	3	=	________	
	

	
	
10cm	+	3cm	+	2cm=	_____	
	

 
6 x 5 = 
 
7 x 5 =  
 
9 x 5 =  
 
(1 mark = all correct)  
 
 

	
6 x 10 = 
 
1 x 10 =  
 
3 x 10 =  
 
(1 mark = all correct)  
	

		
	
15p	+	5p	+	5p	+	2p	=______	
	

Circle	half	of	these	
	

	
	

	
Double	10	=		
	

How	much	money	is	here?	
	

	
	

If	you	completed	this	in	
less	than	15	minutes,	have	
a	go	at	this	challenge	–		
Good	Luck!	



Use	this	hundred	square	if	you	need	help!	
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